
aMath 5b, homework 23 

 

 

 

 

1. Remove the parentheses: 

Example: 𝑎 + (−𝑏) = 𝑎 − 𝑏 

𝑎.  𝑎 + (−𝑏);                           𝑏.  𝑎 − (−𝑏);                               𝑐. −𝑐 + (−𝑎); 

𝑑. −𝑥 − (−𝑦);                         𝑒.  𝑎 − (−𝑏) + (−𝑐);                𝑓. −𝑥 + (−𝑦) + (−𝑧) − 𝑑; 

 

2. Simplify the expression: 

Example: 2𝑥 ∙ 3𝑦 = 6𝑥𝑦 

𝑎.  2𝑎 ∙ 0.5𝑏;               𝑏.   10𝑎 ∙
1

2
𝑏;                   𝑐.  𝑚 ∙ 0.1𝑛 ∙ 10;              𝑑.  − 6𝑧 ∙ (2𝑥) ∙ 𝑦 

 

𝑒.  6𝑎(𝑎𝑏)2𝑏3;            𝑓.   (𝑥𝑦)2 ∙ (𝑥𝑦)3;          𝑔. −𝑐 ∙ (𝑐𝑑)2;                    ℎ.  − 𝑧 ∙ (−𝑥)2 ∙ (−𝑥𝑧) 

 

3. It is known that the number 𝑘𝑘𝑘 is odd. Will the value of the expressions be odd or even? 

𝑎.  𝑘 + 𝑘 + 𝑘 + 𝑘 + 𝑘;            𝑏.   𝑘 + 𝑘 + 𝑘 + 𝑘 + 10;                𝑐.  (𝑘 + 𝑘)(𝑘 + 𝑘 + 𝑘); 

 

It is known that the number 𝑎 is even and number 𝑏 is odd. Will the value of the expressions be odd or 

even? 

𝑎.  𝑎 + 𝑎 + 𝑎 + 𝑏 + 𝑏;            𝑏.   𝑎 + 𝑎 + 𝑏 + 𝑏 + 𝑏;                

 

4. It is known that 2% of the natural number A is greater than 3% of the natural number B. Is it true that 

5% of A is greater than 7% of B? 

 

5. Find the length of the segment with endpoints at points M(m) and N(n) on the coordinate line, if: 

(point M has coordinate 𝑚, and point N has coordinate 𝑛) 

𝑎.  𝑚 = +12.9, 𝑛 = +32.9; 

𝑏.  𝑚 = +1.9, 𝑛 = −2.1; 

𝑐.  𝑚 = −5.11, 𝑛 = −8.83; 

𝑑.  𝑚 = −14.44, 𝑛 = +62.9. 

 

6. Evaluate:  

𝑎.  (713 − 712): 711 − 275: 274;                      𝑏.  (38 − 37 − 36): 35 − 152; 

 

𝑐.  247: 246 − (510 − 59): 58;                          𝑑.  (811 − 89): 89 − 6012: 6011 

 

𝑒.  5−1 − 3 ∙ 2−3;                                                  𝑓.  
3−9 ∙ 9−4

27−6
 

 

 

 


